CCM8 - Quarter 1 - Week 8

Due: Friday 9/22
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Dana draws a scale drawing of a

Find the area of the shaded
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tree using the following scale: region below if the length and
3 Il in drawing = 5 width of the white rectangle is 6 a
inc,nn;aﬁif;n rawing = > mefers in by 11 in and the length and @ D
width of the outer rectangle is OIQIO] |
If Dana draws a tree that is 6.3 | 13 in by 28 in. OO
cm tall, what would be the OIDIOID
height of the actual tree? IO @l
Thursday ololle
00,00
9,66 @l
OIOIBI®
QOICIOID
©,©)0,©)
Find the area of a Find the complement of an angle Problem 1
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